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(A)1:2 (B)3:4 (C)4:5 (D)2:3 (E)5:6

Q.21 :- The length and the breadth of a rectangle are increased in the  ratio of 4 : 5 and 5 : 6 
respectively. What is the ratio of the old area to  the new one of the rectangle? 
एकआयतकी लंबाईऔर चौडाई को क्रमशः 4:5 और 5:6 के अनुपात में बढाया जाता है। आयत
के पुराने के्षत्रफलका नए के्षत्रफल से अनुपात ककतना है?
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(A) 7:2 (B)5:2 (C)2:7 (D)2:5 (E)None of these

Q.22 :- Milk and water are mixed in vessel A in the ratio of 5:2 and in  vessel B in the ratio 
of 8 : 5. In what ratio should quantities be taken  from the two vessels so as to form a 
mixture in which milk and water  will be in the ratio of 9 : 4? 
बततन A में दूधऔर पानी को 5:2 के अनुपात में और बततन B में 8:5 के अनुपात में कमलाया जाता
है। दोनो ं बततनो ं से ककतनी मात्रा में मात्रा ली जानी चाकहए ताकक एक कमश्रण बन जाए कजसमें दूध
और पानी 9 : 4 के अनुपात में हो ?
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(A)19200 (B)28800 (C)28600 (D)27600 (E)25760

Q.23 :- D, S and A started a business each investing 20000 Rs after 4  month D withdraws 
Rs. 6000, S withdraws 8000 and A invest 6000  more. At the end of year total profit was 
65600 Rs. Find the share of A? 
D, S और A ने एकव्यवसाय शुरू ककया कजसमें प्रते्यक ने 4 महीने के बाद 20000 रुपये का कनवेश
ककया, D ने रुपये वापस ले कलए। 6000, S 8000 कनकालता है और A 6000 और कनवेशकरता है।
वर्त के अंत में कुल लाभ 65600 रुपये था। A का कहस्सा ज्ञात कीकजए?
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(A)24 (B)6 (C)20 (D)30 (E)None of these

Q.24 :- In 30 liters of milk and water, water is only 20%. How many liters  of water should 
be added to it to increase the percentage of water to  60% ?
30 लीटर दूधऔर पानी में, पानी केवल 20% है। पानी का प्रकतशत 60% तक बढाने के कलए
इसमें ककतने लीटर पानी कमलाना चाकहए?
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(A)3880 (B)2000 (C)2400 (D)2500 (E)2880

Q.25 :- Same amounts are invested in two scheme with 8% interest for 2  years, one scheme 
at S.I. and another scheme at CI. If he received  41875.2 Rs. after 2 years then find the 
simple interest he earned. समान राकशको दो योजनाओं में 2 साल के कलए 8% ब्याज के साथ
कनवेश ककया जाता है, एक योजना साधारणब्याज परऔर दूसरी योजना चक्रवृद्धिब्याज पर।
यकद उसे 41875.2 रु. 2 वर्त बाद उसके द्वारा अकजतत साधारणब्याज ज्ञात कीकजए।

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)25 (B)40 (C)50 (D)75 (E)None of these

Q.26 :-A can do a piece of work in 10 days. B can do it in 24 days. If C also  works with 
them then it takes only 6 days to complete the whole  work. In how many days C alone can 
complete the whole work? 
A एककामको 10 कदनो ं में कर सकता है। B इसे 24 कदनो ं में कर सकता है। यकदC भी उनके साथ
कायत करता है तो उसे पूरा कायत पूरा करने में केवल 6 कदन लगते हैं।C अकेले पूरे कायत को ककतने
कदनो ं में पूरा कर सकता है?
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(A)30km (B)40km (C)25km (D)35km (E)None of these

Q.27 :-Krishna covers a certain distance by train at 25 km/hr. and the equal distance on foot 
at 4 km/hr. If the time taken by him for the  whole journey be 5 hrs and 48 minutes, how 
much total distance did he cover?
कृष्णा टर ेन द्वारा एक कनकित दूरी 25 ककमी/घंटा की गकत से तयकरता है।और 4 ककमी/घंटा पर
पैदलसमान दूरी। यकद पूरी यात्रा में उसके द्वारा कलया गया समय 5 घंटे 48 कमनट है, तो उसने कुल
ककतनी दूरी तयकी?
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(A)79 (B)72 (C)69 (D) 59 (E)62

Q.28 :-The ratio of age of Satish and his son is 7 : 2. If the difference of their ages 7 year ago 
is 25. Then find the sum of ages of Satish and his son 12 year hence ?
सतीशऔरउसके पुत्रकीआयु काअनुपात 7 : 2 है। यकद 7 वर्त पूवत उनकीआयु का अंतर 25 है।
तो 12 वर्त बाद सतीशऔरउसके पुत्रकीआयुका योग ज्ञातकीकजए।
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(A) 5 year (B)3 year (C)4 year (D)1 year (E)2year

Q.29 :- 3 years ago, the average of Mohan’s family having 5 members was 17. Presently 
there are six members in the family but average age of Mohan’s family remains unchanged. 
Find age of the new member?
3 वर्त पहले, मोहन के 5 सदस्ों वाले पररवारकाऔसत 17 था। वततमान में पररवार में छह सदस्
हैं लेककनमोहन के पररवारकीऔसतआयुअपररवकततत बनी हुई है। नए सदस्कीआयु ज्ञात
कीकजये?
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(A)4 km/h (B)8 km/h (C) 6 km/h (D)10km/h (E)12km/h

Q.30 :-Speed of current is 25% of speed of boat in still water, if boat  travelled 45 km 
downstream and returned back in total 12 hr. then  find speed of boat in still water?
धारा की गकतशांत जलमें नावकी गकतका 25% है, यकद नाव धारा के अनुकूल 45 ककमीकी यात्रा
करती हैऔर कुल 12 घंटे में वापसलौटती है। तो शांत जलमें नावकी चाल ज्ञातकीकजए?
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Direction (21 to 25 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 

E04613
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Q.21 :- I. x³ =  1331                                  II.  y³  = 1728

Q.22 :- I. x³ − 2695  = 11129                    II.  y³ − 6329 − 5838 = 0

Q.23 :- I. x²−29x + 204= 0 II. y²− 34y +285= 0

Q.24 :- I. x²− 5x− 36=0 II. y2 +16y + 55 = 0

Q.25 :- I. x2 − x − 2 =0 II. y² + 3y + 2=0

E04613
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Q.31:- The Ratio of the Efficiency of A, B & C is 4 : 6 : 3 . Together they can complete a
work in 8 days. In how many days A can complete the 3/4th of the same work?
A, B और C की कायतक्षमता का अनुपात 4:6:3 है। वे एक साथ एक काम को 8 कदनो ं में पूरा कर
सकते हैं।Aउसीकायत का 3/4भाग ककतने कदनो ं में पूरा कर सकता है?

E07754

(a) 19 ½ days

(b) 16 2/3 days

(c) 15 ½ days

(d) 21 ¾ days

(e) None of these
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Q.32:- A started a business with Rs. X. After 4 Month, B joined with Rs. 2X and A doubled
his investment. The total annual profit was Rs. 13950. Find the Share of A
A ने X रुपये के साथ एक व्यवसाय शुरू ककया। 4 महीने के बाद, B 2X रुपये के साथ जुड गया
और A ने अपने कनवेश को दोगुना कर कदया। कुल वाकर्तक लाभ रु. 13950 है। Aका कहस्सा ज्ञात
कीकजए

E07754

(a) Rs. 7750

(b) Rs. 6200

(c) Rs. 7250

(d) Rs. 6850

(e) None of these
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Q.33:- Sum of the length of a rectangle & side of a square is 72 m. the perimeter of a
rectangle is 84 m & breadth of rectangle is 18 m. Find the side of the square.
एकआयत की लंबाई और एक वगत की भुजा का योग 72 मीटर है। एकआयत का पररमाप 84 मी
औरआयतकी चौडाई 18मी है। वगत की भुजा ज्ञातकीकजए।

E07754

(a) 48 m

(b) 42 m

(c) 36 m

(d) 32 m

(e) None of these
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Q.34:- Train A with speed 36 km/hr crosses Train B in opposite direction in 20 seconds. Sum
of the length of Train A & B is 600 m. What is the speed of Train B?
ए टर ेन A 36 ककमी/घंटा की चाल से कवपरीत कदशा में टर ेन B को 20 सेकंड में पार करती है। टर ेन A
और Bकी लंबाईका योग 600मीटर है। टर ेन Bकी चालक्या है?

E07754

(a) 60 km/h

(b) 72 km/h

(c) 84 km/h

(d) 56 km/h

(e) None of these
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Q.35:- A & B invested sum in ratio 2 : 3 at 20% & 10% Compound interest respectively. If
after 2 years total interest was Rs. 1510. What was A’s sum?
Aऔर B ने क्रमशः 20%और 10% चक्रवृद्धिब्याज पर 2:3 के अनुपात में राकश का कनवेश ककया।
यकद 2 वर्त बाद कुलब्याजरु. 1510 है तोAद्वारा की गई कनवेकशत राकशक्या थी?

E07754

(a) Rs. 1500

(b) Rs. 2000

(c) Rs. 2250

(d) Rs. 1850

(e) None of these
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(A)9 :5 (B)7:9 (C)5:6 (D)6:7 (E)None of these

Q.21 :- The milk and water in two vessels A and B are in the ratio 4:5 and 3:2 respectively. 
In what ratio the liquids in both the vessels be mixed to obtain a new mixture in vessel C 
containing half milk and half water?
दो बततन A और B में दूधऔर पानी का अनुपात क्रमशः 4:5 और 3:2 है। आधा दूधऔरआधा
पानी वाले बततन C में एक नया कमश्रण प्राप्तकरने के कलए दोनो ं बततनो ं में तरल पदाथत को ककस
अनुपात में कमलाया जाता है?
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(A)39000 (B)30000 (C)33000 (D)36000 (E)None of these

Q.22 :- Two person M and N invested in a business with 115000 and 75000 Rs. respectively. They agree that at 
the end of the year 24% of the profit should be divided equally among them and rest is divided between them 
according to their investment. If M got 4800 Rs more than N Then the total profit is. दोव्यद्धिM औरN ने एक
व्यवसाय में 115000 और 75000 रुपये के साथ कनवेश ककया। क्रमश। वे इस बात से सहमत हैं कक वर्त के अंत में लाभ
का 24% आपसमें बराबर बााँट कदया जाना चाकहएऔर शेर् को उनके कनवेश के अनुसारआपस में बााँट कदया जाता
है। यकदM कोN से 4800 रुपये अकधक कमले तो कुल लाभ है।
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(A) 200 (B)220 (C)260 (D) 280 (E)None of these

Q.23 :- Discount given by a merchant on the marked price of goods is 25% more than the 
profit% earned on it. If discount is reduced by 20% profit is increased by 40% and 
becomes 28%. Find the actual cost price of the goods if the marked price is Rs 320.
एकव्यापारी द्वारा माल के अंककत मूल्य पर दी गई छूट उस पर अकजतत लाभ% से 25% अकधक है।
यकद छूट में 20% की कमी की जाती है तो लाभ 40% बढ जाता है और 28% हो जाता है। यकद
अंककत मूल्य 320 रुपये है, तो वसु्त का वास्तकवकक्रय मूल्यज्ञात कीकजए।
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(A)28 (B)36 (C)24 (D)22 (E)None of these

Q.24 :- Mohan said to his brother when I was of  your age, you were 1/6 th of my present 
age . If sum of present ages of Mohan and his brother is 38 years, then what is age of Mohan 
?
मोहन ने अपने भाई से कहा जब मैं तुम्हारी उम्र का था, तुम मेरी वततमान उम्र के 1/6 वें थे। यकद
मोहनऔर उसके भाई की वततमानआयु का योग 38 वर्त है, तो मोहन कीआयुक्या है?
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(A)3: 5 (B)5: 3 (C)3: 4 (D)4:5 (E)None of these

Q.25 :- Ram and Rajan complete a project in 3 days. Mohan and Rohan complete the same project in 3 days. 
Rajan is 50% more efficient than Mohan and Rohan completes the project in 6 days. What is the ratio of time 
taken by Ram and Rohan together to the time taken by Mohan and Rajan together?
रामऔर राजन एक प्रोजेक्टको 3 कदनो ं में पूरा करते हैं। मोहनऔर रोहन उसी प्रोजेक्टको 3 कदनो ं में पूरा करते हैं।
राजन, मोहन से 50% अकधक कुशल हैऔर रोहन 6 कदनो ं में पररयोजना को पूरा करता है। रामऔर रोहन द्वारा
एकसाथ कलए गए समयका मोहनऔर राजन द्वारा एकसाथ कलए गए समय से अनुपात ककतना है?
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